# ST. TAMMANY PARISH COUNCIL

## ORDINANCE

ORDINANCE CALENDAR NO: 6778

COUNCIL SPONSOR: LORINO/COOPER

ORDINANCE COUNCIL SERIES NO: \_\_\_\_\_

PROVIDED BY: FINANCE ON BEHALF OF PUBLIC WORKS

INTRODUCED BY: <u>MR. CANULETTE</u>

SECONDED BY: MR. AIREY

ON THE 29 DAY OF SEPTEMBER , 2021

ORDINANCE TO AMEND THE 2021 CAPITAL IMPROVEMENT BUDGET AND CAPITAL ASSETS - AMENDMENT NO. 53 -PUBLIC WORKS - FLEET MANAGEMENT

WHEREAS,

**\*\*SEE ATTACHED\*\*** 

THE PARISH OF ST. TAMMANY HEREBY ORDAINS:

REPEAL: All ordinances or parts of Ordinances in conflict herewith are hereby repealed.

SEVERABILITY: If any provision of this Ordinance shall be held to be invalid, such invalidity shall not affect other provisions herein which can be given effect without the invalid provision and to this end the provisions of this Ordinance are hereby declared to be severable.

EFFECTIVE DATE: This Ordinance shall become effective fifteen (15) days after adoption.

MOVED FOR ADOPTION BY: SECONDED BY:

WHEREUPON THIS ORDINANCE WAS SUBMITTED TO A VOTE AND RESULTED IN THE FOLLOWING:

YEAS: \_\_\_\_\_

NAYS: \_\_\_\_\_

ABSTAIN:

ABSENT: \_\_\_\_\_

THIS ORDINANCE WAS DECLARED DULY ADOPTED AT A REGULAR MEETING OF THE PARISH COUNCIL ON THE  $\underline{7}$  DAY OF <u>OCTOBER</u>, <u>2021</u>; AND BECOMES ORDINANCE COUNCIL SERIES NO \_\_\_\_\_.

MICHAEL R. LORINO, JR. , COUNCIL CHAIRMAN

ATTEST:

# KATRINA L. BUCKLEY, COUNCIL CLERK

MICHAEL B. COOPER, PARISH PRESIDENT

Published Introduction: <u>AUGUST 25</u>, 2021

Published Adoption: \_\_\_\_\_, 2021

Delivered to Parish President: \_\_\_\_\_, 2021 at \_\_\_\_\_

Returned to Council Clerk: \_\_\_\_\_, 2021 at \_\_\_\_\_

#### ST. TAMMANY PARISH COUNCIL

#### ORDINANCE

ORDINANCE CALENDAR NO. 6778

COUNCIL SPONSOR: LORINO/COOPER

ORDINANCE COUNCIL SERIES NO.:

PROVIDED BY: FINANCE ON BEHALF OF PUBLIC WORKS

INTRODUCED BY: MR. CANULETTE

SECONDED BY: MR. AIREY

ON THE 29TH DAY OF SEPTEMBER, 2021

ORDINANCE TO AMEND THE 2021 CAPITAL IMPROVEMENT BUDGET AND CAPITAL ASSETS - AMENDMENT NO. 53 - PUBLIC WORKS - FLEET MANAGEMENT

WHEREAS, St. Tammany Parish Government has identified additional capital improvements and capital assets for the Fiscal Year 2021.

THE PARISH OF ST. TAMMANY HEREBY ORDAINS THAT the Capital Improvement Budget and Capital Assets List is amended as follows:

SECTION III: CAPITAL ASSETS					
	New (N) Replacement (R)	Qty	Unit Price	This Amendment	Total
SPECIAL REVENUE FUND 100-4618 - PUBLIC W	ORKS - FLEET MANAGEM	IENT			
Excavator-10K Lb w/ Attachments & Trailer (Bush Barn)	(N)	1	110,000.00	-	110,000.00
Tractor-Boom Mower (Airport Barn, Bush Barn, Hwy. 59 Barn)	(R)	3	145,000.00	-	435,000.00
Tractor-Side Mower (Covington Barn, Fritchie N. Barn)	(R)	2	105,000.00	-	210,000.00
Truck-1 Ton Dual Wheel Service Body w/ Crane (Fleet)	(R)	2	70,000.00	-	140,000.00
Truck-1 Ton Service Body (Fritchie S. Barn)	(R)	1	50,000.00	-	50,000.00
Truck-1/2 Ton (Bush Barn, Hickory Barn, Keller Barn)	(R)	3	22,000.00	-	66,000.00
Truck-1/2 Ton Extended Cab (Bush Barn (2), Fritchie N. Barn, Hickory Barn (2))	(R)	5	26,000.00	-	130,000.00
Truck-2-3 Yard Dump Extended Cab (Brewster Barn, Hwy 59 Barn)	(N)	2	73,000.00	-	146,000.00
Truck-3/4 Ton Crew Cab (Folsom Barn)	(R)	1	31,500.00	-	31,500.00
Truck-3/4 Ton Extended Cab (Airport Barn, Brewster Barn)	(R)	2	29,000.00	-	58,000.00
Vehicle Lift-4 Post, 18K Lb Capacity (Fleet)	(R)	1	32,000.00	-	32,000.00
Walking Excavator/Spider Machine (Airport Barn)	( <b>R</b> )	1	325,000.00	(325,000.00)	-
Excavator-Marsh Buggy w/ Attachments (Fleet)	(N)	1	220,000.00	220,000.00	220,000.00
Culvert Inspection Camera System (Fritchie S. Barn)	(N)	1	95,000.00	95,000.00	95,000.00
				(10,000.00)	1,723,500.00

REPEAL: All Ordinances or parts of Ordinances in conflict herewith are hereby repealed.

SEVERABILITY: If any provision of this Ordinance shall be held to be invalid, such invalidity shall not affect other provisions herein which can be given effect without the invalid provision and to this end the provisions of this Ordinance are hereby declared to be severable.

EFFECTIVE DATE: This Ordinance shall become effective upon adoption and execution.

MOVED FOR ADOPTION BY:

SECONDED BY:

WHEREUPON, THIS ORDINANCE WAS SUBMITTED TO A VOTE AND RESULTED IN THE FOLLOWING:

YEAS:

NAYS:

ABSTAINING:

ABSENT:

ORDINANCE CALENDAR NO. 6778 ORDINANCE COUNCIL SERIES NO. \_\_\_\_\_ PAGE 2 OF 2

THIS ORDINANCE WAS DECLARED DULY ADOPTED AT A MEETING OF THE PARISH COUNCIL ON THE <u>7TH</u> DAY OF <u>OCTOBER</u>, 2021; AND BECOMES ORDINANCE COUNCIL SERIES NO.\_\_\_\_\_.

ATTEST:

KATRINA L. BUCKLEY, CLERK OF COUNCIL

MICHAEL B. COOPER, PARISH PRESIDENT ST. TAMMANY PARISH GOVERNMENT

MICHAEL LORINO, JR., COUNCIL CHAIRMAN ST. TAMMANY PARISH COUNCIL

Published Introduction: <u>AUGUST 25, 2021</u> Published Adoption:

Delivered to Parish President: Returned to Council Clerk:

## ADMINISTRATIVE COMMENT AMENDMENT NO. 53 - 2021 CAPITAL IMPROVEMENTS - SEPTEMBER 2021

## SECTION III: CAPITAL ASSETS

## SPECIAL REVENUE FUND 100-4618 - PUBLIC WORKS - FLEET MANAGEMENT Funding Source: 2% Sales Tax and Available Fund Balance

Reduce available funds and reallocate to new equipment.